Net Forces and Newton’s Second Law Recap
1. If two forces are in the same direction, you _________ the forces to determine the net force.
2. If two forces are in the opposite direction, you _________ the forces to determine the net force.

3. The equation to find force is ________________________.

4. The equation to find acceleration is _______________________.

5. The equation to find mass is __________________________.

6. The unit for force is ______________________.

7. The unit for acceleration is __________________.

8. The unit for mass is ______________________.

9. What are two ways to increase the force on an object?

10. A .6kg ball is traveling at 20m/s2.  A 1kg ball is traveling at 10m/s2.  

a. What is the force of each ball?

b. Which has the greater force?
11. Ms. Rose and Mrs. McCormick are trying to move a desk.  Mrs. McCormick is pushing on the desk with 95N of force while Ms. Rose is pushing in the same direction with 86N of force.

a. What is the net force on the desk?

b. The desk needs 205N of force to move.  Will the desk move?

c. Mr. Cherry joins the two women and applies 100N of force in the same direction.  What is the net force after Mr. Cherry joins?

d. Will the desk move?

12. Spain and Portugal made it to the World Championship Tug-of-War.  Spain is applying 2367N of force in one direction while Portugal is applying 7423N of force in the opposite direction.

a. What is the net force?

b. Which team will win?

13. A sumo wrestler weighs 150kg.  He runs into another sumo wrestler and applies 450N of force.  What was his acceleration?

14. The same sumo wrestler from question 13 hits the sumo wrestler with 550N of force.  What was his acceleration?

15. A deer accelerating at 10m/s2 hits a car with 400N of force.  What is the mass of the deer?

16. A moose accelerating at 10m/s2 hits a car with 600N of force.  What is the mass of the moose?

17. How much more does the moose weigh than the deer on Earth?

18.  A 55kg man and a 65kg man are accelerating at the same speed.  Which man will apply more force?  Explain your answer.

19. A bullet fired from a 50kg rifle has a force of 5N when accelerating at 100m/s2.

a. What is the mass of the bullet?
b. How much will the rifle accelerate?

20. A rocket has a force of 40,000,000N when it is accelerating at 800m/s2.  What is the mass of the rocket?
21. A 500kg cannon ball has a force of 900N.  What is its acceleration?

22. A 68kg person is pushing on a desk with .34m/s2 acceleration.  What is the force exerted on the desk?

23. How much force is the desk exerting on the person in question 22?

